Finding inverse of a matrix using the Gauss-Jordan elimination method

Example 1

Suppose that we want the inverse of
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We can use Gaussian Elimination to solve the systems

SX;_] = ey, SX;.2 = ey, SX;.;; = e3 for the three columns of X = S-1
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Example 2

Suppose that we want the inverse of
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We can use Gaussian Elimination to solve the systems

SX.1=e1,5X.2=e3,SX. 3= e for the three columns of X = §~!
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None of the linear systems SX.; =¢€;,5X.2 =€3,5X.3 =e3 has a

solution. Therefore, S is not invertible.
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